R R EE  REB AR
B4L 20204 & 20214 & 20224 20234 & 20244
Es EI MWh 29,533 26,604 30,282 33,132 36,277
* FI4R MWh 3,883 3,927 4,472 3,640 3,524
Fuys 1R kL 507 418 359 507 488
FI4R kL 171 172 192 189 197
LPG WEIRN Fm® 38 40 68 47 28
A4 Fm® 1 2 2 1 1
MEHR WEIN Fm® 0 0 0 0
A4 Fm® 13 10 6 5 5
THRILF— o EI kL 10 8 18 88 298
R ’ T4 kL 18 19 21 14 17
Eh EI kL 19,278 16,994 17,040 19,093 22,287
=]
FI42R kL 4 2 17 17 13
ok EI Fm' 529 362 333 354 478
A4 Fm® 24 24 16 15 18
BIR(C027')—+REI00EH) _
EHiERE MWh 641 6,924 11,484 15,374
BIRE100EH)
- MWh — 603 3910 7,580 10,314
BhEREY
Scopel®'? t-CO, 51,678 45,582 45,938 52,237 60,972
W Scope2X'? t-CO, 15,133 13,937 12,479 11,939 11,433
Scopel+2 t-CO, 66,811 59,519 58,417 64,177 72,405
O T REERR t-CO,/f8M 334 432 38.9 38.0 43.7
R LR t-CO,/f&M 9.7 8.6 105 11.0 9.7
HTFII—1 ~
(AL 5 H—E 2) t-CO, 713,061 779,031 590,805 514,021 753,726
HTa—2 _
(ERE) t-CO, 1,724 8,803 5,200 3,529 7,344
HhFI)—3
(Ra—TF1&2AEENEARRUT t-CO, 9,852 8,806 9,026 10,049 11,461
FILFX—BIEET)
= HhFa)—4 _
CO28EHE . B (L 70) t-CO, 22,761 25,378 17,954 13,583 20,864
Scoped™1? HhTIY—5 _
(B DEEY) t-CO, 2,012 1,749 1,838 1,626 1,654
hTa)—6 3
(H2E) t-CO, 342 342 344 346 353
HTI—7 _
(BRZEDHEE) t-CO, 968 945 918 884 867
ATI)—11 -
(B3 LT B, 0 5 ) t-CO, 2,554,935 3,910,400 2,271,092 1,787,358 3,151,771
ATIY—12 _
(R L8 B D) t-CO, 26,227 54,288 43,789 27,577 36,421
HhTF3a)—13 3 _ _
(J—RERE (Fi) GO, 165 317 561
t-CO, 3,331,882 4,789,742 2,941,131 2,359,289 3,985,022
TE dunk—s t 846,400 478,707 502,228 577,238 501,385
BERIL-BRE t 823,817 459,391 471,561 554,234 485,298
T DY A9ILER % 97 96 94 96 97
P REOLSE t 22,584 19,316 30,666 23,004 16,087
T RVEEFT % 2.2 15 1.7 19 23
3 HEHR =
,Er%i:;z?; = BEEER % 6.9 6.4 6.2 6.2 56
4
=X % 0.9 18 19 13 17
y T REERT % 15.7 — - - -
G- BEAEXS =
7 BEEER % 125 - - - -
. BRIz RMEREX % 94.0 97.2 95.2 97.2 97.2
&é_ﬁ%ffﬁ BEF VIR 8 102,588 84,977 83,671 99,191 91,136
=TT AR 8 6,520 2,473 4,236 2,842 2,592

X1 ER(ERIE. BRA7,R)I2MA. i85 (BN TE. BHAT T4 R) LEFHHER
X2 VATV Y —TA4O47—2a - DN UBRRRBICK D EZERIIERE

X3 ERNIEDHRER

X4 RBEE (%)

=REREE 0 /HEHE

X5 TY—VBAEM =Y —CREBAEB-IEEHE

X6 BEFV_IJTAMEAR (%) =BFI=IJRAMB - (BEF YTz AR =T X b3




